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Plot [['EcFgro’, 'EcFzExp', 'EcPltng’, 'ECdef’, 'EcParam’, 'water_ec’]]
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Plot Sensor and FgRec Data
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Plot [['1", "lopt’], ['T", 'Topt’], ['RH', 'RHopt'], ['ETcl’, 'optETcl’], 'LAI', ’optEtRate’]
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Plot [['ECC:b—0’, 'FVIEC:r—o', 'ECl:g—0o']]
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Plot [['FVOEC:r-o’, 'ECO:g—o’]]
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Plot [['PHC:b—0’, 'FVIPH:r—o', 'PHl:g—0o']]
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Trend plot forP3-11_0
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P3-11
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P3-11
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P3-11_0, Day=73 (2025-06-14)
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P3-11

BYiE) | GEBERTIC (RD) | EBE (BAH/FK) | BREE (BF/R) | X8 ERE
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07:50 283 150.0 2.888 |Z=| 1BRi&e07:50 Bzh (RAERE)
08:55 283 150.0 2.888 |Z=| {Ri&e08:55 Bzl (KREERHE)
10:30 283 150.0 2.888 FA| {RRi&@10:30 Bzh (RA{ERE)
12:50 283 150.0 2. 888 FH| 1BRi%e@12:50 Bzh (kBERSE)
13:45 283 150.0 2.888 FH| 1Ri%@13:45 Bzh (REBERSE)
14:40 283 150.0 2. 888 FA| 1BRi&e14:40 B3 (RAHEREE)
15:35 283 150.0 2. 888 FE| 1BRi%@15:35 Bz (kBERSE)
Bit]2547.0 (9%) 1350.0 3EUHIKEC: 2200, PH: 5.9

TERRHLER 2 STEEARTF (184.0 :

BRIASSPRIZERE150. 0 ml.
FEBUFE Y A R i&PH 5. 93
FRAVE NS RBEKEC 2200. 0

150.0), FAEEHT—@ % XA HS




P3-11_0, Day=72 (2025-06-13)

150 fmm——m—Fm——— e e e e
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Warning: |col ['FVI’",

"FVO’] missing
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Warning: [col ['WC1’, "WC2'] missing

optEC0=2914. 0,

setECB=2200

Warning: |col ['ECB’, "ECC’'] missing

optPHO=6. 5,

setPHB=5. 9

Warning: [col ['PHB', 'PHC'] missing
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o RH_obs-rning: icol ['RHo_obs’] is missing
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Warning: col ['M_E'] missing
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Warning: col "MW ] missing
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P3-11

BYIE) | BRI (F)) | s (EAH/ER) | BREE (B/R) | XK ERR

05:30 283 150. 0 2.888 FA| 1Bi%@05:30 Bz (kEBERSE)
06:30 283 150.0 2. 888 FA| 1Ri%@06:30 B (KAERE
08:15 283 150.0 2.888 FA| {RRi&@08:15 Bzl (RAEEE)
12:20 283 150.0 2.888 | K/| f{Rige12:20 Bzl (KREAERSE)
13:30 283 150.0 2. 888 FE| 1BRi%@13:30 Bz (kAERSE)
14:10 283 150.0 2.888 FE| 1BRig@14:10 Bzh (RAEEE)
14:55 283 150.0 2.888 FH| 1Ri%@14:55 Bzh (RAERRSE)
15:50 283 150.0 2.888 |Z=| {Rige15:50 Bz (REAEHE)
2it]2264.0 (8%) 1200.0 32 03E%KEC: 2200, PH: 5.8

TERRHLER 2 STEEARTF (184.0 :

ZRIALBRIERE150. 0 ml.
WREY S RFRPH 5. 77, B THERHAZIFESIAIEPH, 5F A%
FHERECE (1803. 0 vs 3663.0) 15
FERNE Y 4 R FHREC 2200. 0

150.0), FAEEHT—@ % XA HS




[ME,

ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

150

100 A

50

V1, V' 38RY, ET - VI, VO, FVI, FVO, FRV, ad jFRV, ET
2500
984
2
1200 21)005
20 80
Warning: lcol [FVI',| "FVO’'] missing
— ME
—_— MW
- - D I —— = =gV |
S —
_-— e ‘_"_‘_"—-'—u..‘ R ——

P3-11_0, Day=71 (2025-06-12)

- 3000

- 2000

T
—_
o
o
o

L 50
0
U
0.8
0.6
0.4
2
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0-27 Warning: lcol ['ECB’,| 'ECC’'] missing
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P3-11

BflE) | GEBRTK (B)) | ERE (EA/) | EREE(B/R) | XS SRR

07:25 283 150.0 2.888 RS {Ri&e07:25 Bl (REAEHSE)
08:05 283 150. 0 2.888 BE| 1Ri%e08:05 Bz (KAL)
09:20 283 150. 0 2.888 BE| 1Ri8e09:20 Bal (REEEE)
10:05 283 150.0 2.888 B 1Rige10:05 Bzh (REEESE)
10:45 283 150.0 2.888 BS| 1Ri%e10:45 Bz CGGREEESE)
11:20 283 150. 0 2.888 Bl Rige11:20 Bal (REEESE)
11:55 283 150.0 2.888 S| 1Rige11:55 Bah (REERESE)
12:25 283 150.0 2.888 S| Rige12:25 Bz (REAEHE)
12:55 283 150. 0 2.888 BE| Ri%e12:55 Bz (RFA{ERE)
13:25 283 150. 0 2.888 s Ri%e13:25 Bz (REERSE)
14:00 283 150.0 2.888 BE| Rige14:00 Bz (REAEHE)
14:35 283 150. 0 2.888 BE| 1Ri%e14:35 B3 (GRF{EREE)
15:15 283 150. 0 2.888 el BRi%e15:15 Bz (GREERSE)
16:00 283 150.0 2.888 BE| Rige16:00 Ba (REAEHE)
16:55 283 150. 0 2.888 BE| 1Ri%e16:55 B3 (RFA{EREE)
21t 4245.0 (15)%) 2250. 0 3 UHEKEC: 2190, PH: 5.9

MEREHLER 2 5 MEIELRTT (184.0 :
ZRIALBRIERE150. 0 ml.

FREVGEIN S RiFEi&PH 5. 93
HEERECE (1847.0 vs 3827.0) 15
FREVRIN S K IKEC 2194.0

150.0), FAEEHT—@ % XA HS




ET (ml/hr/plant) ET (ml/hr/plant)

ET (ml/hr/plant)

P3-11_0, Day=70 (2025-06-11)
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